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QUESTION 1

Networks define the valid routes (streets) in the warehouse on which the resources move. Which

statement is correct regarding Global Networks.

Note: There are 2 correct answers to this question. Response:

A. A node that matches your X and Y coordinates, if you have not assigned an edge

B. You assign storage bins of a storage type to an edge

C. The global network connects the defined, storage-type-specific networks to each other.

D. If no storage-type-specific networks are defined, the network connects the storage bins to each other v u directly.

Correct Answer: CD

QUESTION 2

What data is entered in order to perform the availability check? There are 4 correct answers to this question. Response:
A. User ID

B. Quantity

C. Ship-to party

D. Stock type

E. ltem

Correct Answer. BCDE

QUESTION 3

The following are examples of actions in PPF:

There are 4 correct answers to this question. Response:
A. Printing

B. Triggering a BAdI

C. Goods receipt posting

D. Starting a workflow

E. Sending an email

Correct Answer: ABDE
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QUESTION 4

Which of the following are examples of inbound process steps? There are 3 correct answers to this question.
Response:

A. Labeling

B. Picking

C. Sorting

D. Unloading

E. Deconsolidation
F. VAS

Correct Answer:. DEF

QUESTION 5

Slotting is used to determine the following indicators for optimal put away: There are 2 correct answers to this question.
Response:

A. Storage section indicator
B. Cycle counting indicator
C. Put away control indicator

Correct Answer: AC
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